Tuesday

“What 2 number sentences are represented. in each of these chtu.res?
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5+5+5 2+2+24+72
3xb 2x3 L x 2

Now try these yourself:
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3+3+3 2+2+2+2+2+72 5+b+b+b b
3x3 6 x 2 b xb

Whrite these repeated addition number sentences as multLp[LcatLon sentences:

3+3+3+3= |-|—>(3

Remember-:
2+2+2+2+2=5x2
X means
6+6-=2x6
lots of
Lo+ b+ b+ b = box b

Which number sentence is incorrect? Why?

2xl bl W x 2 2424242

| think D is incorrect because the number sentences onLg shows 2 lots of 2 and there are
four lots of 2 in the array so the addition number sentence should be 2+2+2+2 . (See the

pictures for how you get these number sentences)




